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PART : MATHEMATICS

If il the words formmed by all the letters of word 'KANPLUR' are ananged aiphabetically, then 4400 word

AR
i1} PRECANL (2} PREALN i3] PRELAN idk PRENLA

12)

Firsty we amange the word KANPLUR. alphabeficaiy.
AKNPARL

A =5i=13
K. & =531=120
|, =5'=120
P& __  =dl=324d
P __ __ =#l=i4
PH____=4!=24
PRA__ =3!'=h
PREANLU =1
PREALN =1

120 x34+24 x3 +6+1 +1 =440

Let &, =217, A =l oz i sum of third row of A7 5.+l V2 thena 4

aA=lat & a*| |8t at &
|at @ a%| [a* & a°|

@ +al ral axdisa" B3 ra
Sum =g +a’ w2a" +a% +23"0 =31t £ g¢
=d (14 + 142 +28)
=168 +5b6 -n.E = -I'-|'!-'|.E

o = 168, i =56
n+5=224

Iirqr_n:nma-u: %z} I;\I.EIIE.:' X+ 3CosK - ~.|r1:-:'51 ¥+s5im+ 4] B

1
(1)
F

1
2
[ I"!—‘.I-r_ =
1 1
(3] (4} -
25 ;-
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ml

EF

g

£5"

s e O Uy e U ——
I e g O ——

— i 5057 %+ 3cosx - sinx - 4
=l sine(ys - 5]
1 Zeosxsinx-Isinx-cosx _ 1 (-1

2J5 - 05 ¥ sl 1 5

Let the ared bounded by the ainves ] =1 - ¥ € W =1 5o If 9u =z -y then, -+ s
(15)

o, 1)
Wy =1

" 1. By

Op =Gz - 24 =0, y=24
It - 7| =[3- 24] =15.

Thee rEManoeT when P9 s osated g 7305
(1)

71 =7{FP =46 +31
=233 +7.39

=233 +7.ZT"7

=233 +T 23 +4]17

=230 47 =417

=230 +T{IP =4

=230 +T x16 = |59 - 5~
=230 +7 x16 x(-5F
=230 +{115 - 3 (-51°
=23g +(-3) {-5¢°

=23g +3.5 (25F

=230 +15 =

=730 +80 = F3d + 45 =14
S50 remainder 5 14,



_j"j_g -..E EH--I--;-:.'--E' | JEE|Mimin] 2025 [ DATE : 2501-2025 [SHIFT-2} | FAFER-1 | MEMORY BASED | MATHEMATICS

& r1:|-J‘-:|r’-9zrzn_l:u:.::!1.5|a1-n1ang-ecﬁﬂ:psin.r'-|mmn +i) =
O

(1) 157 {21159 (329 (4} 16
Ans. (1)
il Flai=mx- x4+ =0—x=04 5
)= X3 e 10 T
4 E' 1 & &

flx)= x1| -’{— —Ix+4 1u|

r{n-q'—:-a. 1|:r'|-3—f‘

Fia} =16(4 - 12 +10) =32

Hﬁlazq'—lf-lﬁ-m]-l?

Range :.-:__%.EIEI

dle +fi} =29 +128 =157

7. IT mid paint of chord of the eliipse %,, o ~1% E—; ;,.u-mu'eequanmn-‘Miﬁ-
(1) 160x +450y =289 (2} 160x +450y =161
(3) BOx + 225y =289 (4} B0x +225y =161
Ans. (1)
sol. T=5
A2/5)  yiuz _(2/s) ey
g 4 g 4
2 e i
45 B XS«0 16
160x +450y =289
8. If 380,81, ... ams @e i AP stchthatar +{a +an +as ¢ ¢ &me) + 3w =2233 then the
valde ofay a3 +3y ..o B Eamg IS
Ams. 11132
Saol. S @ #a3es =on o =dao +3ma e
Lodn +las a3 e b Ao +Amses =2333

202 an +aawa] - e =233
2032 +aum] = 2233

8 +3mmal =11
Mow a1+ ¥ oeeen :l;.--_-u.-—-i:‘l.J E.m:l
= 1012 %11

= 11132
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9.

Ans.
Sol.

£ 7

£F

If The exhalistivie vakes of a for wiadh e equabon 257 +(a - 5k 4+ 15 = 38 has no real ook £ o) Hhen
fan +fi s equal to
(1 7S (25Tl [ 2 {d} 42
2)
=0
(a— S5 —d i w15~ 33} =0
(a— 58 =3 ®Z5-a) =0
fa-Shjla-5+ 24| =0
fa-Sija+l9)=0
+'—" = *

e

13 5
dc [-19,5]={n )
a=-19
f=5
Mow, Ma +f]
=|-TG +5|
=71

If hogy =x I-u-g% , & Mo {0k Then sum of all values of y equals o

5 2 5 |
11 — - 3= 4] =
(1 2 @ = (3 = <
()
jog y =g { =]

]
l.‘.

a=0 1,23 . -
NG A e
2y=|g| 13 (5] i
N

o

: 5

A circle passes through {0,2) and (4.2]. The line 3x +2v +6 =D passes through centre of the cirde,
Find the length of shortest chond passes through (1, 21

PR -3

Let centre of the drcle Cia/b)

Circie passes throudgh AD 2} and Bld. 2}
- =8C

Jla-0y-ib-2F = fta—a)+ -2

= & +ib- 2F =’ - Ba +ib - 2" +16
a=2
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Line 3x +dy +6 =01 is passing through Cla,b)
38 +db +6 =l
6 +dh +6 =0
b=-3
Ciz-3)
R -yf2-1 - (-3-2F
CR =1+ 25 - /26

N
5/

Radus AC == J(Z-0F - {-3-2)
=29

Fromm nght angle APCR
CFs =CRT +FRE
20 =26 +PRs
3 =PR2

PR -3
Sa, length of the chord with mic-point (1, 2) = PR - 203

[ (2% v TMx -2}

12, if Doman of y = logs (18x = x* — 77} Is {m, i) and Demain of y = log..- 1 | —~o— 0 —

] 5 iy, &) then
n? 47 447 =7
{174)
1B - = 77T =0
- LEx 47T <=0
W= 1lw— T 47T <=0
(x— 11} ix— Th=<0
{711}
{23+ L — 2]
i (oL m'\rﬂ E-1=0 %2
e {2, m)
= (7,11} = o, R}
e (2, m] =y &) Hhen
e} =T|'|.:| =11 ¥ =.E.E O
29 +121 =4 =174

4
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13.  f2+y+z2=1. % +2y +42 =m & & +dy +108 =n¥ have infinitely many solutions and m ke 2 vaiues

L
a &ft menfind > |rF -~ irf |
rel
Ans. {340}
Sol.  Forinfintely manysolutons A =0, A= 0, &y =0, & =0

fid41

=1 x|l x6-2x3]'=0

El |
D= 2 m
4 m
1(2nY - dm) — B = mj +L (4 - 2) =0
e - 3m+2 =0

(m— 1)fm—-2) =0

m=1,2

s A |
D =|m 2 4f=8 =m=12
") gl A |

1 1
EI,- m &l=0—=m=12

=}

_I"ll'l-:l:l_lil'Hl'l.E'lflf
200 &

=53 +385 =440

14, There &l o bags B, and B; such that B, contains 4 white and 5 black paks and B, contans “n" white
and 3 black bals. Dne bad |s transfermed from bag B, 1 B: and now one Dall S randardy drawn from hag

E:.U‘Epﬂtﬁéﬂ:ﬂ@:ﬁﬂ}&dﬁﬂtﬂt&iﬂﬂﬂlﬁﬁ%ﬂﬁﬂ'ﬁ'Emuﬂim

ans. (&)
F Y b
Sol. P whibaly={2 28 2] (20|22
|_n' _"g 'g_llnld_. 15
4fnrl} . 50 29
gin 9n: 4} 45
gin+1+5n 29 i)
o{ri+ ) a5

1890 =4) . 45 =29.9(n +4)
405n + 180 =261n + 1041
(205 - 261in = Bbd
1&d n=a86d

B

=

144
i =h.
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' 147
5 is e focus and PO & focal chond of paraboia v =12cand (PSII05 =T . hen the equabtonof orde

for whech PO s dismieter

Ans.  {0)
| Piame, 2ot
hd 'I;r-—
Gl | 53, 0)
:-..|,i.'.l...._..
x=md oo ]
L= T
Mow,
PS =&l +3 =37 +3

'L'.l'E'.-EI-1-E—31-i

= tt
_ ¥ v 1Y 43
F;.I}E—_&_;it- lilf?l

128 - 35¢ + 12 =0

, i 3
t-__ =
T E
PO 11 e
3 L 2
2 1 Jf3
Bt Na
L q,lr?.-__'. i 5
CINER. o e e
] A
€3 T
IT = b _ o ) - -
T I3
2 5
_*"-*"*'r|t" il =t %i

E quation of drcle having PO as diameter.
|:l.--al'?.|.:-'.-£1 | Iy -E.':|-1.|",I EI:]-E
t L

u--dla-%!-ly-mﬁly-ﬂﬁ}

Ax" +8y - 25— dof 3y -~ 106 =10
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M6 Letfix) =0 +1) F - 2 + 2] + o5 |x). IFfix) i non-differentiable at x =a =2 and x =[i. Find the distance
of the point (i, [i} from the line 12% +5y +10 =0

Ans.  (3)
Sol. (¥ +1) and cos x| are always differentiable, gix) =27 - ax +2 wil be non-dferentiable at ponts whens
gixl =0
Lo 2o
y=p - ax +2|
= gl =2) =0

= d=-254+2 =01 wa=3

gieh=x - 3x 42 =x -2} {x~ 1)
r=2adfi=1

(e, B} =2 1)

DEM=ElluIrExI-IE‘_’g_3
| Jiz.st |




